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  Activity 3.1 – Power Functions 

1. (a)  0y  

(b)  1y  

(c)  
3
1y  

(d)  xy   

(e)  
47
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xdx

dy
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(g)  
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xdx
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(h)  
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x
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2.  (a)  
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3.  (a)  
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 (b)  
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4.  (a)  Set 03)(
2

12 
x

xf  to get  x = 2, –2.                                +          –          –         +  

             –2          0         2 

     (b)  local minimum at (2, 12) 

 (c)  local maximum at (–2, –12) 
 

5.  (a)  The domain of  
2
11

xxdx
d 

 

is x ≠ 0, so 
x

y 1  is not differentiable at x = 0.     

 (b)  The domain of  
xdx

d x
2

1

 

is x > 0, so xy   is not differentiable for x ≤ 0.   

 

 

6.  (a)               (b) 

    
  

 

 


